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LOGIC AND PHILOSOPHY o

Full Marks : 100
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The figures in the margin indicate full marks'

for the questions.

Q. No. 1 cdr:n’es 1 mark each
, Q. No. 2-13 cam'eé 2 marks each
Q. No. 14 -23 carries 4 marks each

Q.. No. 2427 carries 6 marks each
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1x12=12

2x12 =24

. 4x10=40 -

6x4 =24

Total=100
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Give very' sh‘ortﬂa‘nswer D I o _.; ST B 12,——,1-2 -

i

(a) What is the ¢$‘s}ence of induction 'lﬁfoper? :
R a5

NS

TN St o e R

| (b) :Is pérfect inductiOn. an induction propér? '
L SIS g2 STist 2 2

(¢} What is the ground of Analogy ?.

T ol e e

(d) “A cause is the' sum’total of conditichs 'boéitive and -

negative taken together” — who said the statement?

T 2 gt TR g TR SRR | SR (I
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~ (e)s “The .'IaW.L of causation is the material - ground of #

induction” - is it true? - 2

() What.is Vera Caué.a’?

~ 0 L

Wiﬁ?ﬁ"m@m? -

(9) What is the meaning of the Latin word ‘Mores’?
1o ©ratg ‘Mores’ *<T(GI¥ we & ?
! , R L
A(h)_ Who i.s the founder of Scientific reali.sm"?‘
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(i) -

0

\

“Observation is finding a.fact'and experiniet is making

one” — Who said this? . o ¢

PR . (S

“Ter Zioz oA SIRER SR A mw AR — AR

How many purusarthas are there ?’

',?ﬁmaf,@w«?

£

(k) Is ethics a positive science ? | o

() From which Sanskrit root the word ‘Dharma’ is derived ?
0 RTH! R v 4igs o e targ 2
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2. Define ’slc':ientificv induction;? ", .. oo o )

el ST ket i |

ey

3. .Expléin very briefly why the conclusion of unscientific

induction is probable. . o 2
| SR SRS e R TeRAnEe S e [ =1
. . ’.. .; 4 o . P

4, Why observation and experiment are called the material

. grounds of inductibn P < ¢ Ael e o T2

HSrF ST el e SR SRS <@ fofe IR colt = 2

5. State two advantages of simple observation. : .2
el PR 7oy R S 79
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What do you mean by ‘Paradox of Induction’ 8"

o R R R e

6. Mention two features of scientific realism.
o

S I 57 G B

7. Define primary qualities with example.é.‘: '
A @ Fee B Briase Tl

‘What is the meaning of ‘esse est percipii’ ?
RS 19 Ry et s o R’ 2 |
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9. 'Name the form of 1deahsm “with which dlalectlcal method is
associated. State the name of the pthosopher who advocated |
this m_ethod. o , ' .' B , 2

= W%ﬁm—%ﬁ—wwﬁmm%wﬁ%ﬁ@ C9{Tﬂ?l=_1 |
o Vﬂ"ﬁ?ﬁ‘? o N %mn [

oA~ b~ . . A
Pl . . P

10:  State ‘two. features of objective idealism: = . e 2
IS SRRV 757 Ty Traw |

11. Why. is habitual action considered as an object of moral

judgement ? - -2

Wﬂ@ﬁ@ﬁﬂwmmmﬁﬁwq%ﬁmwwiﬂ 2

12. State the second canon of elimination. - Name the

experimental method . which is based on this canpﬁ of

‘elimination. - . T {+1=2
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State one adVantage of the method of Agreement Why is this

method called the method of dlscovery'D

S e ﬁ?fﬁﬁﬂ%@ﬁ@tnﬂ%&fcﬂ%ﬁwwﬁm«%ﬁqﬁ PRI -
@ ?

13. State two pomts of difference between 1nduct1Ve and

AL I

deductive 1nference - ' Lo T e 2

SIPTEINEIE SIS: ORI SR Mers: 31 757 =2y Brara <1 |

~ 14. Explain the meaning of ‘Varna_srema dharma’. a4
et wme
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- 15. State Flint’s definition of “religion. . . B 4

sl e 0D T SieeRicht B 01
T T e e

N O
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Mention any four characteristics of religion. 4

Y AT L T P R S TR RTINSt Y S
L . ' - -
st R 1R tafiey Srme 9
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16. Mention two ~prabtica1 imperfections: of the method  of
Agreement.. . : - L 4
P T A R S DT L o "
SEAl AR 757 R Sspefel B 1

*

17. State 'two points of similarity between religion and ‘morality-

RN

242=4

(23]
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18.

13.

Distinguish between cause and condition, -

or/m ST RTINS i R YA .(..

State four points about thenatureof nyi)ot]:‘ieﬁei”s.‘
AR AP FHATE 510 RET Temd 41|

[ LR G B O T I S N

D1st1ngu1sh between good analogy and bad analogy ’ 4

.«
. e B
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or / 24t
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State along with bnef explanauons about the four conchtlons

- of a legitimate hypothes1s . . 4 -

Wﬁﬁﬂnﬂiﬂﬁ &8 W WB@’WW|
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20. Write short note on the fallacy’ of post hoc ergo propter hoc.-

4

DY

 FIPORTI mwwm’hﬂmwm 1|

ToAe by

. . .',“','/ . . . U . '. [
21. Name the theory which states that external world can be

" Known diréctly as it “really is. Also,”define this’theory and

) ms’tat_e one important dr.awback of ‘ghis theory. 1+2+1=4
M ToTS 4 e et 2oy SIS ~f1 T SR ST 1 O

ol

22. Write short note on “conflict of -desires”. .. Lo 4

“PIAR B To{cE Bl B &l |
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What is voluntary action ? State the three stacres of voluntary

action. 1 +3=4

afbes M o @I @ AT R w1 R S w1

P o .
: r 2 .

23. Deﬁne Berkeley 'S, Sub3ect1ve Ideahsm Is Berkeley a solipsist ?

2+2 4

| SRR e S ke T e SR a2 e

24. Define unsc1ent1f1c 1nduct10n with example. State why it is
called ‘Unscientific’? Mention briefly three characteristics of

unscientific induction. : 4 . 2+1+3=6
TR N Sl e S wﬁacma @R o
‘@R@ﬁawm @W@%{WWWW f\’ﬁﬁ‘rmﬁflﬁ
T@EL 91 |
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25..

Define -Analogy with example. Explain the chafat‘:ter_isytics of -

Analc')gy.. 2+4=6

W‘T WW@WW\@ AG R aﬂ?ﬁa SISl e ﬂa’iﬁ}mﬂ
901

Define cause after Carveth Read and explain brleﬂy the

| qualitative marks of a cause. 2+4 6
T %’Iw SR aﬂ% asma MRy ﬁzm PR @IS m«mqm
AT [N

-Or / /21
What is experiment ? What are the advantages of experlrnel’lt
over. observatmn ? 2+4=6
AT R 2 Aot worrs oA JRuER B & 2
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26.

27.

collocation.“ R R FU DU L ARCEIPIE AP AN R

Define hypothesis ~with ~ a, -scientific example. Explain

hypothesis ‘cohcernin.'g' law and hypothesis. cgnq.erning
e 2+4=6

ﬂm@wﬁﬁ%mqﬂiww\wﬁmﬁwﬁwmmmﬁm%

W\ﬁozf‘—ﬁam aaraﬁsamnwn

What are the different kinds of hypothesis' according to .
Stebbing ? Explain each of fhent with éxample: 2+4=p
Bfies W Rfoy ooRT SFRER & [ 2 T AT A0ORE IR0

State Mill’s Canon. of the method of Difference. Describe
briefly four disadvantages df‘c'i’efe_cts of this method: - '

© 2+4=6
mﬁWWWTWW|WaWWW“T
ST It hal - R



or / W

T Explam the method of Re51dues with example Do you thlnk
it ‘to be: an unprovement upon thé ‘method of D1fference ?

Explaln - - - ) T 2+4= 6

o Wﬁ%WWW%WI&?WW%@?&% :
_.W’fﬂ?ﬁqiﬁ"w?mﬂnw. | .
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